Algebra 1 Quiz 9.6.13 (A) Stellar Solver Kej Block

Solve the equations
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5. Cell Phones Sprint has an offer where you pay A
$20 for service plus $0.10 per each text that you
make.
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Let C = cost for 1 month and t = # of texts. Qo
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b. Write an equation for the cost of calls using 4o g
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¢. Make atable and graph your equation. 5
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Algebra 1 Quiz 9.6.13 (B)

Solve the equations
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5. Cell Phones Sprint has an offer where you pay A
$10 for service plus $0.20 per each text that you
make.
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Let C = cost for 1 month and t = # of texts. ao -
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c. Make atable and graph your equation. 5<
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